SDOR=

2020 42t

ZMIAL 12t St 22 BLYZ|-JHH AT 44

A% | 2z8¥ 23 233
2 ZA-22
242
@ SAZS F9I5HE 20| HHIALTL
SIPRIMIE BHIEE e EE 8o
QISR B35 MBAAAMC LZ 7|0
Al

@

FIIR| M7 M =l = Aot B2 8Y9S
Sootl MaALMe Ea A7)0
MEIIENEHMRE Eaote 4F0e

EIIES U RS Lects 3R0=

S92 o7k 50092 SHEE e,

degsd £ BHSUO 2% (20214
128 31YMAl= 2.6% 2 SIHCHO| sliEdte

A Ygad Ete a4 20214 128 31L7A= 1,0002H (1S
ZUS H7H1,0000F HE SH== 5H0] SH= 2 50 HR MO SA[SHCL.
LhE OO M A BHCH
= 1 YA (Z7HEE G EAE)
2712 MY Al462 (LEFIE 52| AL HE
MA=A S) <71 2019.12.315
2 By
1%6x~;1?p 100
#3110
10 X o5t

(B1d) 79% — 85%, 21% — 15% (R7H7I2| M A72%
A1)

YU-SAHMAYS W2 THHME

SR R 40 A

Mol 79%E S8 MAUS BI7IRIMZ, 21%E =8 M

2021.1. 1.

2
o




SDOR=

2020 A} 2tMAF 12} St 2 B 7|-7HZ4TH 24

x| | ezed 23 ¥E
&t i
207~207p = =
7| 204|224 [7|Eo1|7"”%7\'”] [7|EO1|7"”T?__X'”]
NEABIMEY SS7120] 100=22] 202 HEAB|MEY =2S7H40] 10022 202
ME&s d&8st= A2? 1949 7= ME&s H&sh= A2? 194 7|&
® e AFl7| (52 H) ® 2 AFRl7| (SR H)
@ Has AME @ Has AS
@ Hi7|Z0| 2,000ccE Z25h= S8Ata2t (@ HIZ[H0] 2,000ccE 21ote SEASAL
@ g AA @ g AlA
® et ® Qe
Sid) @ HIE AS : 2M7HF2] 10022 20 [sHd) @ 7 HE : 2M7EE2] 10022 20
@ HYZ|2Z0] 2,000ccE Z1tot= 5EASAL ! @ BiZ|2¥0| 2,000ccE 25t SEALSAE
==/142] 100&82| 5 ==/142| 100&22| 5
@ g AA  2EMZEE2] 10022 20 @ 115 AA  2EMZEE2] 10022 20
® |t 221 369 ® |t 221U 462
2 A (SA) JHE LMY 24 HE Yo 2 st s - YLt
359p 3
7|20 2 ©® 20x1d 2 RIS = (LRRASEL2Y)x100 = ® 20x1W % SHRH|IS = (YRRAHAHQLEEA)x100 =
((#3,500-w1,000) / W1,000)x100 = 250% ((w3,500-%1,000) / W1,000)x100 = 250%
20x1H & R = (FRARYRSEAH)x100 = 2019 & G2H|E = (FRANYFRSEA)*100 =
((#3,000-w2,000) / W1,000)x100 = 100% ((w3,000-%2,000) / ¥ 1,500)x100 = 66.67%
2 =422
>44~544p A 2| 2 OH| RIHH|R7FHH|= AHMEH| AL D] HH R A=
OX2A| =] - =] T -, Aagfll+—o"IT
RS A e710f 3 %_ }. (0) Aol HZEC, O
Mo 232 50| SHER A 22 AfRfEIL
o L2 EME "._*E7I 2laf =25t Al :L+0| SRS




